Midterm Review

Ch.1 

One of the key conclusions from Market Theory is market participants (buyers and sellers) acting out of their own self-interest could result in a socially optimal outcome if certain assumptions are met.

Normative – subjective, includes opinion

Positive – objective, fact only

Fiscal Policy is executed by the Government (Congress) through Government Spending and Taxation.

Monetary Policy is executed by the Fed through interest rates.

Opportunity Costs, defined for both consumer and producer

As a worker you “produce” your labor – op.cost is income from next best foregone work option.

Ch. 2

Decision Makers are decentralized (far apart and independent) in a market economy.

Who, What, and How are key economic questions both for Demand and Supply.

The PPC helps analyze a nations output by looking at the producion tradeoffs for two goods.  

MRT (marginal rate of transformation) is diminishing.


Efficiency on curve.  Inefficiency inside.  Unattainable outside.

PPC asks the question, What combination of these two goods should be supplied?






                     Example Figures

	Factor
	Factor Price
	Functional Distribution
	Income Approach

	Labor
	Wages
	70%
	7 T

	Entrepreneurial Skills
	Profits
	8
	800 B

	Capital
	Interest
	15
	1.5 T

	Land
	Rent
	7
	700B

	
	
	Total:   100%
	GDI:  10T  


Progressive, Proportional, and Regressive taxation; what happens to effective t-rate in ea (3 types) of taxation as you move up the income ladder?
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Advantages and disadvantages of 

1. Sole Proprietorships

2. Partnerships

3. Corps

Relative to corps, SPs and Partnerships have far less access to capital (both in Quantity and the range of investment options available)

Government failure vs. market failure

Government failure – inefficiency due to intervention that prevents a competitive outcome – tax or price control
Mkt Failure – inefficiency resulting from mkt power leading to an anti-competitive outcome.  Monopoly has hi price lo Q, may slow innovation, stifle rivals, prevent interoperability, that’s inefficient.
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Demand determinants

· Income

· Tastes

· Prices of other goods (Complements and substitutes)

· Expectations of the future price of the good

· Market population

Price changes influence Qd

Supply determinants

· Technology improvement

· Input prices

· Prices of alternative goods

· Expectations of the future price of the good

· # firms in industry

· Tariff, sales or excise tax (S1 still exists for S, but D sees Sat)

Price changes influence Qs

AS is kinked at maximum capacity
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1. Rent control and other forms of government intervention through price controls (floors and ceilings that –when effective and binding- cause surpluses and shortages, respectively)

2. Protectionism through quotas or tariffs

3. Those who benefit and those who are hurt by specific instances of both 1. and 2. above.

4. Third-Party payer markets
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A complete business cycle involves a(n)

1. Expansion

2. Peak

3. Recession

4. Trough

They tend to complete every 6-8 years, but vary widely in volatility and duration.

The secular trend is up.

Unemployment

· Structural

· Frictional

· Seasonal

Compose the “Natural Rate,” the economy’s built in percentage jobless that indicate a dynamic economy running at capacity.

Anything above the “Natural Rate” (“Full Employment”) is

· Cyclical

-Corresponds with the business cycle

Rel. of Nat. Rate to FEGDP.
Calculating U-Rate

Calculating LF particip rate

Leading Indicators

· Length of work week

· New Unemployment filings

· Consumer Confidence

· Consumer goods orders

· Capital goods orders

· Building Permits

· Vendor Performance

ILI is specific mix of indicators used by US govt agencies tries to predict the future…3 months trending up or down implies the economy’s next direction. Also called (more generally) LEI for leading economic Indicators.
It has been said to have predicted 9 of the last 6 recessions (ie sometimes it predicts recessions that don’t occur) yet it still conveys useful info for govt and investors. 

Demand Pull vs. Cost Push

SR Phillips Curve implies negative correlation between Inflation and Unemployment.
Nominal GDP is deflated by the GDP deflator equation to get Real GDP, assuming inflation ( rise in overall Price-level indicated by the CPI) has occurred since the base year.  If deflation has occurred, applying the same equation to NGDP is called inflating to get RGDP
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National Income Accounting

Expenditure Approach: C+I+G+Xn

Income Approach: W+I+R+P

GDP is used over GNP

Output excluded from GDP:

· Illegal

· Volunteer

· Household (chores, construction, cooking/cleaning/driving)

Transactions excluded from GDP:

· Gov’t Transfers (welfare, fs, ss) aka income stabilization to households

· Intermediate or used goods

· Financial Instruments (stocks bonds options mutuals etc.)

RGDP is preferred over NGDP.  NGDP may be relatively large due solely to inflation with no real change in output. RPCI is even better to estimate standard of living and well-being of the average person, although that still ignores wealth/income inequality, and well-being is not solely material consumption.
Some increases in GDP worsen well-being.  Most increases in GDP improve well-being, and along with the PCI, it is our best measure of a nation’s well-being.

DI=PI-PT
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Human Capital

Growth as represented by a PPC

% change in Per-capita output= GDP growth-pop.growth

Notice GDP Growth is % change in GDP and  Pop Growth is % change in the Population.

Classical theory and the stationary state as implied by the law of diminishing marginal returns

New Growth Theory

Positive Externalities, network externalities and increasing returns.

Patents and their conflicting effects on growth:

· Increasing growth by creating incentives for innovation

· Decreasing growth by limiting usefulness of common knowledge and can be effective barriers to prevent potential new competitors from entering a market
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Until the Depression, the dominant economic theory in developed nations was Classical

This theory held that an economy would naturally tend toward FE GDP

They held that: 
Demand will bounce back from external shocks (wage price flexibility keeps RW constant)

Shocks to spending are neutralized by the interest rate (abstinence theory of interest)

Supply and demand will be balanced because S creates D (Say’s Law)

Thus, a shock may cause an economy to be inflationary or recessionary temporarily, but the economy will naturally return to FE.  This implies a vertical LR AS curve.

Keynesians challenge all the Classical arguments

Say’s Law applied to 19th Century France, not modern developed economies.

    Wages and revenue are delinked in modern economies

    There are more direct ways to influence D than through S

Abstinence theory of interest is not correct since savers and investors have different motivations from each other, and from the interest rate.

W/P flexibility was restricted on P side by monopoly power and on W side by Unions

While real assets may be increasing in a (deflationary) downturn, so is real debt

Keynesian conclusion:
Monetary and Fiscal Policies should be built in or otherwise triggered to stabile the economy at full-employment and with moderate inflation. 

Most economists believe overall Monetary policy is considered more able to achieve fine-tuning of the economy.

AD=C+I+G+Xn

Gov’t may have automatic stabilizers.

Quotas, Tarriffs, and Politics can all influence X and M, as well as the Exchange Rate.

AD slopes down due to (all effects described for when P goes up)

· Exports fall (bc their price has gone up), imports rise (bc their price has fallen, especially relative to domestice goods)

· MD increase when P goes up, ir goes up, C & I fall

· Asset value (stocks, savings) erodes with inflation.  Less real wealth=less spending

AD Shifters

· G, I , C, NX………….remember NX=X-M

So if imports increase, AD declines. If X or NX increase, so does AD (increase is a right-shift as with any D or S curve)

SAS Shifters
· Costs

· Capacity

· Technology

· Productivity

· Expectations

· Gov’t Policies

· Taxes

LAS shifters are 2,3, & 4 above as well as the more difficult to measure “improvement in growth-compatible institutions” eg if a country has no limited liability corporate form & then it institutes one, investors are now more willing to risk their money.

AS slopes up due to usage of less and less efficient resources as Demand increases.

Paradox of Thrift
Savings reduces (C declined) aggregate demand if it doesn’t get back into the economy via Investment.
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Consumption Function (CF) charts expenditures against income (RGDP). An unchanging 45-degree line is drawn to show equilibrium between expenditure and income, with a consumption function which will shift in direct correlation with AD.  

When RGDP is to the right or left of the intersection of CF and the 45-degree line, inventory adjustments occur as indicated by the vertical distance from the 45-degree line to the CF. 

CF: Aggregate Expenditures line, technically you must add in other expenditure sources for this to be true.  Therefore positive shifters of AD also increases AE, shifting it up.

This graph should also have a vertical line called PO (Potential Output), which is vertical at Y* like the LAS in the AS-AD graph. The distance from current GDP to that GDP* is the recessionary or inflationary gap – which a countercyclical fiscal policy is designed to eliminate.
Expenditure multiplier = 1/ 1-MPC

MPS =  1-MPC

Changing the MPC (aka MPE) will change the slope of the CF (aka AE) line.

Impact of just a change in taxes: inverse to C and I -  for example:
change in C= -(increase in $’s paid to a tax)*MPC

B = Billion

So if you have $200B more in taxes, and MPC = .8

Change in C= -($200B*.8)    =    -$160B

That would be the initial expenditure change. Just as if G, I or NX declined by $160 Billion, in this case C declined $160B.

The multiplier equation in this case would be:

-$160 * (1/(1-MPC)) = -$800
As always, intial impact to AD (in this case, Change in C)*M= Change in Y
So the total impact on GDP is expected to be – $800B, a contraction in annual output of $800 Billion 

This is contractionary fiscal policy – economic contraction induced by the Govt decreasing G or increasing T.

When would they want to carry out contractionary fiscal policy? When GDP exceeds GDP*, an inflationary gap exists.

So if current GDP was 7.8 Trillion Dollars (T)  and GDP* is 7T, then the 200 Billion dollar tax that set this whole thing off could be justified as a means of cooling the economy down (preventing inflation).

Expenditure multiplier example (with eqn. – see above, bold)

Bal. Budget multiplier = 1
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